Efficiency vs dr

o 0.01—
g F
©.009F- -+

[ fake+duplicates vs AR |

o 0.0
<
©.009
$.008
9.007
%
D.006
o
3.005
+
%.004
"0.003
0.002
0.001

—s— DQM_original_step2__pt1to20_eta2pOto2p5
—e— DQM_mkFit_step2__ ptlto20_eta2pOto2p5

Ratio

o
©
a

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

- 0.0
o

iy
TTT T T TTT

2 4 6 8 10 12 14 16 18 20
Pileup

o
o

.| —— DQM_pixelCPETemplate_step2_ ptl1to20_eta2pOto2p5

1078 1072 107 1

track min AR

[ fake+duplicates vs AR(track, jet) |

=0.0
o}
9.009
Q
H.oos
%.007
Y
D.006
B.005
0
9.004
L

............

1073 1072

1 -1
AR(track, jetgJ

[ fake+duplicates vs PU |

5 0.01
o
©.009
$.008
9.007
I
9.006
Q.
3.005
+
%.004
0.003
0.002
0.001]

Ratio

0.5

q....




	Contents
	Page 1


